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1. Calculate ΔH for the reaction 2NO2 (g) →N2O4 (g) using the information below. 
 

N2 (g) + 2O2 (g) →2NO2 (g)     ΔH= 67.7kJ 
 
N2 (g) + 2O2 (g) →N2O4 (g)    ΔH= 9.7kJ 

 
 
 
 
 
 
 
 
 
 
 
 

2. Calculate ΔH for the reaction 2H2O2 (l) →2H2O (l) + O2 (g) using the information below. 
 

2H2 (g) + O2 (g) →2H2O (l)    ΔH= ‐572kJ 
 
H2 (g) + O2 (g) →H2O2 (l)    ΔH= ‐188kJ 

 
 
 
 
 
 
 
 
 
 
 
 

3.  Determine ΔH for the reaction 2CO (g) + 2NO (g) →2CO2 (g) + N2 (g) using the information below. 
 

2CO (g) + O2 (g) →2CO2 (g)     ΔH= ‐566.0kJ 
 
N2 (g) + O2 (g) →2NO (g)     ΔH= 180.6kJ 

 
 
 
 
 
 
 
 
 
 
 
 
 



4. Determine ΔH for the reaction 4Al (s) + 3MnO2 (s) →2Al2O3 (s) + 3Mn (s) using the information below. 
 

4Al (s) + 3O2 (g) →2Al2O3 (s)     ΔH= ‐3352kJ 
 
Mn (s) + O2 (g) →MnO2 (s)     ΔH= ‐512kJ 

 
 
 
 
 
 
 
 
 
 
 
 

5. Determine the ΔH for the reaction NO (g) + O2 (g) →NO2 (g) using the following information. 
 

O2 (g) →2O (g)        ΔH= 495kJ 
 
2O3 (g) →3O2 (g)       ΔH= ‐427kJ 
 
NO (g) + O3 (g) →NO2 (g) + O2(g)  ΔH= ‐199kJ   


